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A linear circuit has a Thevenin equivalent, as shown above. Now suppose that
components are added to that circuit as shown below.
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a)  Find the Thevenin equivalent circuit at terminals a'-b' in terms of the original
v1h and Ry, and the added R;. (Note that this is the circuit with only R, added

to it.)

b)  Find the Thevenin equivalent circuit at terminals a"-b" in terms of the original
vrh and Ry, and the added R, and R,.
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This s a voH:qejc divider
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b) With R, connected +o the output of +the
Thevencn efaiva(ent, the Thevenin e,uim(c:zt

voltage remacns vy, 6 and the Thevenin
eguivalent resistance s Ry + Ry, since

the R!'s are (n geries.
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